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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A - Type | B - Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154759362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018. Based on the
data 1n the table. answer the questions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Type B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30,000 32.000 25000

Options:

61547536501, 1
61547536502, 2
61547536502 2
E1547526504 4

Question Number : 2 Question Id : 6154759363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

E1547536505. 1
B1547536506. 2
61547536507, 3
61547536508, 4

Question Number : 3 Question Id : 6154759364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 (2) 4
(3) 3 4 1
Options:

61547536509, 1
61547526510, 2
E1547536511. 3
BE1547536512. 4

Question Number : 4 Question Id : 6154759365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

E1547536513. 1
61547536514, 2
61547536515 3
61547526516 4

Question Number : 5 Question Id : 6154759366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

51547536517, 1
61547536518, 2
61547526519, 3



E1547536520. 4

Question Id : 6154759361 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension
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2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154759362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 10 % 2) 5%
3) 20% 4) 25%
Options:

61547536501, 1
61547536502, 2
61547536503, 3
E1547536504. 4

Question Number : 2 Question Id : 6154759363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) ~33.33% (2) ~66.67%
(3)  50% 4) 15%

Options:



E1547536505. 1
61547536506, 2
61547536507, 3
61547536508, 4

Question Number : 3 Question Id : 6154759364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 2 (2) 4
(3) 3 4 1
Options:

B15475236509. 1
61547536510, 2
61547536511, 3
61547536512, 4

Question Number : 4 Question Id : 6154759365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475365121
61547526514, 2
E1547536515. 3
E1547536516. 4

Question Number : 5 Question Id : 6154759366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

61547536517, 1
615475365158, 2
E1547536519. 3
B1547536520. 4



Sub-Section Number: 2
Sub-Section I1d: 615475406
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154759367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547556521,
E1547536522.
B1547536525
61547536524

o LI

Question Number : 6 Question Id : 6154759367 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 9b (2) 100
(3) 105 (4) 110
Options:

E15475368521. 1
BE1547536522. 2
B1547536523. 3
61547536524, 4

Question Number : 7 Question Id : 6154759368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) i ) 7:2
(3) hia 4) 5H:2
Options:

E1547536525. 1
E1547536526. 2
BE1547536527. 3
BE1547536528. 4

Question Number : 7 Question Id : 6154759368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
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(1) 114 2y 7:2
(3) 518 1) D2
Options:

B1547536525. 1
B1547536526. 2
G1547536527. 3
61547536528, 4

Question Number : 8 Question Id : 6154759369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which given of the following sets of letters when sequentially placed at the gaps 1n the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

BE1547536529. 1
61547536530, 2
61547536521, 3
E1547536532. 4

Question Number : 8 Question Id : 6154759369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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bb b ab cbba  bebb

(1) achac (2) achbbhb
(3) chbbha (4) abbbe
Options:

61547536529, 1
61547536530, 2
E1547536521. 3
E1547536532. 4

Question Number : 9 Question Id : 6154759370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Out of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61 kg. (2) 69 kg.
3) 70kg. 4) Tlke.
Options:

615475265352, 1
E1547536534. 2
E1547536535. 3
61547536536, 4

Question Number : 9 Question Id : 6154759370 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 61 .. (2) 69 fHm.
(3) 70 T .. (4) 71,
Options:

BE1547536533. 1
61547536534, 2
61547536535 3
61547536536, 4

Question Number : 10 Question Id : 6154759371 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547536537, 1
E1547536538. 2
B1547536539. 3
61547536540, 4

Question Number : 10 Question Id : 6154759371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547536537, 1

61547536538, 2

61547536539, 3
61547536540, 4

Question Number : 11 Question Id : 6154759372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

E1547536541. 1
61547536542 2
61547536543, 3
61547536544, 4

Question Number : 11 Question Id : 6154759372 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547536541. 1
B1547536542 2
61547536543, 3
61547536544, 4

Question Number : 12 Question Id : 6154759373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

61547526545, 1
E154753654E. 2
E1547536547. 3
51547536548, 4

Question Number : 12 Question Id : 6154759373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

£1547536545. 1
61547526546, 2
E1547536547. 3
E1547536548. 4

Question Number : 13 Question Id : 6154759374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547536549, 1
61547536550 2
61547526551, 5
61547536552 4

Question Number : 13 Question Id : 6154759374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536549, 1
61547536550 2
E154752E551. 2
61547536552 4

Question Number : 14 Question Id : 6154759375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547536553. 1
51547536554, 2
61547536555, 3
61547536556, 4

Question Number : 14 Question Id : 6154759375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) a8 &R 421 (2) Had 10 31 75
(3) IS 75 W 421 (4) FaA 102 3R 515
Options:

E1547536553. 1
E1547536554. 2
E1547536555. 3
E1547536556. 4



Question Number : 15 Question Id : 6154759376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s signified by Udaharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3} Conclusion proved

(4) Universal proposition along with an instance
Options:

E1547536557. 1
61547536558, 2
E1547536559. 3
B1547536560. 4

Question Number : 15 Question Id : 6154759376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£15475368557. 1
E1547532E8558. 2
E1547Y536559. 3
61547536560 4

Question Number : 16 Question Id : 6154759377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n classical Indian School of Logic. 15 a case of :

(1) Comparison (2) Implcation
(3) Perception (4) Verbal Testimony
Options:

E15475365E1. 1
E1547536562. 2
BE1547536563. 3
61547536564, 4

Question Number : 16 Question Id : 6154759377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

n,

29ed HIZTI & 31 98 fe9 9 9IS 781 a1 2 | 379: <ded U § 9isH *1 &l 8

n,

HRAT Th9es H 3T4Ad 351800 o9 Teh[ = 8T & ¢

(1) T (2) THfEad

ot =

(3)  FFEUWON (4) I G0
Options:
615475365611
61547536562 2
61547536563 2
1547536564 4

Question Number : 17 Question Id : 6154759378 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition 1is false

(2) “E” proposition 1s true, “I” proposition is true and “O” proposition is true

(3) “E” proposition is false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

B1547536565. 1
61547536566, 2
E1547536567. 3



E1547536568. 4

Question Number : 17 Question Id : 6154759378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536565, 1

61547536566, 2

61547536567. 3

61547536568 4

Question Number : 18 Question Id : 6154759379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

51547536565, 1
61547536570, 2
61547526571, 3
E1547536572. 4

Question Number : 18 Question Id : 6154759379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536569, 1
61547536570, 2
E1547536571. 3
B1547536572. 4

Question Number : 19 Question Id : 6154759380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?

(1) Questioning to check for the understanding of students
(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour
Options:
61547536573. 1
61547536574, 2
61547536575, 3
61547536576, 4

Question Number : 19 Question Id : 6154759380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547536573, 1
61547536574 2
61547536575 2
61547536576, 4

Question Number : 20 Question Id : 6154759381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547536577, 1
6154753657 E. 2



E1547536579. 3
61547536580, 4

Question Number : 20 Question Id : 6154759381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547536577, 1
61547536578 2
615475365793 2
61547536580 4

Question Number : 21 Question Id : 6154759382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547536581, 1
61547536582, 2
E1547536583. 3
E1547536584. 4

Question Number : 21 Question Id : 6154759382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547536581, 1
61547536582, 2

61547536583, 3



E1547536584. 4

Question Number : 22 Question Id : 6154759383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

61547536585, 1
61547536586, 2
E154753E8587. 3
E1547536588. 4

Question Number : 22 Question Id : 6154759383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547536585, 1
61547536586, 2
E1547536587. 3
61547526588, 4

Question Number : 23 Question Id : 6154759384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following i1s not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

615475236559, 1
E15475365380. 2
E15475365391. 3
B15475365582. 4

Question Number : 23 Question Id : 6154759384 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)
(3)

Options:
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51547536589, 1
61547536530, 2
615475265391, 3
E15475365392. 4
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Question Number : 24 Question Id : 6154759385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options

given below :

(a)
(b)
(c)
(d)

Socio — economic background of Teacher
Teacher’s skill in pleasing the students
Teacher’s subject knowledge

Teacher’s personal contact with students

Choose the correct option :

(D)
(2)
(3)
(4)

Options:

(a), (c) and (d)
(b), (¢) and (d)
(a), (b) and (c)

). (b) and (d)

(a

51547536553, 1
61547536594, 2
E15475365395. 3
E15475365596. 4

Question Number : 24 Question Id : 6154759385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a), (c) R (d) 2) (b), (c) AR (d)
(3)  (a), (b) 3 (c) (4) (a), (b) 3R (d)
Options:

£15475365393. 1
E15475365594. 2
E15475365395. 3
E15475365596. 4

Question Number : 25 Question Id : 6154759386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (c) and (d) only
4)  (a), (b) and (d) only

Options:
61547536597, 1



E1547536598. 2
615475365595, 3
61547536600, 4

Question Number : 25 Question Id : 6154759386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) =@ (b), (c) 3W (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) R (d) (4) =EA (a), (b) IR (d)
Options:

E154753685597. 1
E1547536598. 2
B15475365599. 3
61547536600, 4
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Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

(h) E-governance 1= related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) (a). (b). and (c)
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a) and (b) only
Options:
61547536601,
E154753EE0Z,
BE1547536603.
61547536604

[ N

Question Number : 26 Question Id : 6154759387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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(1)  (a), (b) 3R (c) (2) A (b) AKX (c)
(3)  FaH (a) HN (c) (4) FAA (a) AR (b)
Options:

61547536601, 1
61547536602, 2



E1547536603. 3
51547536604, 4

Question Number : 27 Question Id : 6154759388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 13 loaded into secondary storage from RAM and 1s then executed hy
the CPU.
(b) A search engine 1= a software svstem that 1s designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
61547536605, 1
61547536606, 2
61547536607, 3
61547536608, 4

Question Number : 27 Question Id : 6154759388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547536605, 1
1547536606 2
1547526607, 2
61547536608, 4

Question Number : 28 Question Id : 6154759389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c¢)
Options:
61547536609, 1
61547536610 2
61547536611, 2
61547536612 4

Question Number : 28 Question Id : 6154759389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =3 (a) R (b) (2) #aa (b) 3 (c)
(3) A (a) W (c) 4) (a), (b) I (c)
Options:

61547536609, 1
61547536610, 2
61547526611, 3
E1547536612. 4

Question Number : 29 Question Id : 6154759390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It 1s a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries 1t needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)

Options:
15475366131
61547536614 2



E1547536615. 3
B1547536616. 4

Question Number : 29 Question Id : 6154759390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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4)  (a). (b) I (c)
Options:
615475366131
61547536614 2
61547526615 =
61547526616, 4
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Consider the following statements with reference to the proposition "Some girls are not
students”

(a) Subject term students 1z distributed

(b) Predicate term girls 1s undistributed

(c) Predicate term students 1z distributed

(d) Subject term girls 1s undistributed

Choose the correct option from those given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only (c) and (d) are correct
Options:
615475366171
1547536618 2
E154753EE19. 2
61547536620 4
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Correct Marks: 2 WrongMarks: 0
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Options:

E1547536617. 1
61547536618, 2
615475366149, 3
E1547536620. 4
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Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(b) Belief in God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (c) and (d) only

(4) (b) and (d) only

Options:

61547536621, 1
61547536622 2
1547536622 2
15475326624 4

Question Number : 31 Question Id : 6154759392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536621, 1
E154753E822. 2
61547536622, 5
61547536624, 4
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Which of the two statements from the following statements are correct?

(a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn’t occur in multi-stage cluster samphng

(c) Inaccurate sampling frame and non-response are examples of sampling — related
e1Tor.

(d) There 1= an inverse relation between heterogeneity of population and samplhing error.

Choose the correct option :

(1) (a) and (c) only
(2) (a) and (d) only
(3) (b) and (d) only

(4) (b) and (c) only
Options:
£1547536625. 1
61547536626, 2
E154753EE2Y. 3
E1547536628. 4

Question Number : 32 Question Id : 6154759393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536625, 1
1547536626 2
15475326827, 2
1547536628, 4
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Match the following historic places with their distingumishing discipline of learming

Last I List IT
Historic places Discipline
(a) Takshila (1) Astronomy
(b) Ujjain (1) Buddhism
() Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)

Options:

51547536629, 1

51547536630, 2

61547536631, 3
E1547536632. 4

Question Number : 33 Question Id : 6154759394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 @-@), (b)-GD), (0)-Gid), (d)-(iv)
@ (@-GD), (b)-Q), (0-Gv), (d)-{i)
(3 (@-@), (b)-Gv), (¢)-(1), (d)-@
@ @-w), (b)-G), (e)-(1), (d)-(iiD)

Options:

61547536629, 1
1547526620 2
615475326621, 5
61547536632 4
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Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (1)
(c) Gelisols (111)
(d) Aridsols (1v)

Choose the correct option from those given below :

—

) (a)-(1v), (b)-Q), (c)-(11), (d)-(111)
2) (a)-(11), (b)-(iv), (¢)-(1), (d)-(111)
3) (a)-(@), (b)-(11), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(11), (c)-(1v), (d)-(i11)

Options:

61547536633, 1
61547536634 2
61547536635 2
1547536636 4

(

_—

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soil order consisting of soils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154759395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(L) (a)-(v), (b)-(1), (¢)-(11), (d)-(111)
(2) (a)-(11), (b)-(1v), (c)-(1), (d)-(111)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(iv)
(4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(111)

Options:

61547536633, 1

61547536634 2

61547536635 2

1547536636 4
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Question Number : 35 Question Id : 6154759396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match List — I with List - IT

List I
(Digital Initative)
(a) UMANG
(by BHIM
(c) eBiz
(d) SWAYAM

Choose the correct option :

(1) (a)-(i1), (b)-(1), (c)-(111), (d)-(av)
(2) (a)-(111), (b)-(11), (¢)-(iv), (d)-@)
(3) (a)-(v), (b)-(ii), (¢)-(1), (d)-(i1)
4) (a)-(1), (b)-(v), (c)-(11), (d)-(111)

@)
(i1)
(111)

(iv)

List II
(Purpose)
G2B Services
Learning platform
Unified payment interface

Single point of access to all

governme nt services.



Options:

61547536637, 1
1547536638 2
1547526629 2
61547536640, 4

Question Number : 35 Question Id : 6154759396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(i1), (b)-(1), (¢)-(ii1), (d)-(1v)
(2) (a)-(iii), (b)-(ii), (¢)-(iv), (d)-G)
(3) (a)-(iv), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (¢)-(11), (d)-(111)

Options:

61547536637, 1

61547536638, 2

E1547536639. 3
61547526640, 4
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Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column II
(a) Ontology (1) Ideographic
(b) Epistemology (i1) Realism
(¢) Methodolgy (111) Survey
(d) Method (1v) Positivism

Choose the correct option :

(1) (2)-(11), (b)-(iv), (c)-(11), (d)-@)
2) (2)-(11), (b)-(1), (c)-(111), (d)-(1v)
(3) (a)-(w), (b)-(1), (c)-(1), (d)-(111)
4) (a)-(11), (b)-(1v), (¢)-(@), (d)-(111)

Options:
61547536641 1

E1547536642. 2
E1547536643. 3
51547556644, 4

Question Number : 36 Question Id : 6154759397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FITH-TF Tl FHIAH-3 T AT hITIT -
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(a) EETHETE (i) et
(b)  SHHEET (i) FEAEFEAER
(c) Tomelt fafer (iii) FEET
(d) T (iv) HHNICHFAER

&l fashoT T

(1) (a)-(i1), (b)-(iv), (¢)-(ii1), (d)-(1)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3) (a)-(1v), (b)-(11), (¢)-(), (d)-(iii)
(4) (a)-(11), (b)-(iv), (¢)-(1), (d)-(i11)
Options:

E1547556641. 1
B1547536642 2



E1547536643. 3
51547556644, 4

Question Number : 37 Question Id : 6154759398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 1s beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects in receiver
Options:

61547536645 1
61547536646, 2
E1547536647. 3
E1547536648. 4

Question Number : 37 Question Id : 6154759398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536645 1
61547536646, 2
61547536647, 3
E1547536648. 4
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Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

List I List IT
(a) Sacrifice (1 Working in a stipulated time
(b)  Sincerity (11) Confinement of individual mind on
action
(c) Self control (1) Showing love and affection
(d) Altruism (iv) Helping without selfish motives

Choose the correct option from those given below :

(1) (a)-(1), (b)-(), (¢)-(iv), (d)-(111)
(2) (a)-(1v), (b)-(1), (e)-(i1), (d)-(111)

(3) )-(111), (b)-(1v), (c)-(1). (d)-(11)
4) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
Options:

E1547536645. 1
51547536650, 2
61547536651, 3
61547536652, 4

Question Number : 38 Question Id : 6154759399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1 (2)-G), (b)-(). (c)-(v), (d)-(ii1)
(2) (a)-(iv), (b)-(1), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
(4) (a)-(1), (b)-(Gid), (¢)-(11), (d)-Av)

Options:

61547536649, 1
61547536650 2
1547536651 2
E15475326652. 4

Question Number : 39 Question Id : 6154759400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?

(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file

Options:

1547536653 1

1547536654 2

61547536655 2

61547536656 4

Question Number : 39 Question Id : 6154759400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547536653, 1
61547536654 2
615475366855 2
15475326656 4

Question Number : 40 Question Id : 6154759401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

E1547536657.
E154753EEEE.

E1547536659,
B1547536660,

[ N S

Question Number : 40 Question Id : 6154759401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHEfTRad & 8 % 91 AGHA B ATHR U 52 ATHR & 00 & Hal T & K7 F T8l w187
(L = [P: e, \--=' RIS

[ = ™

(2) e, L, ET STe]

(3 e, T, 9w, w9

(4) T, e, sTe], S,

Options:

61547536657,
61547536658,
£1547536659.
E15475366E60,

[ N

Question Number : 41 Question Id : 6154759402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E15475366E1. 1
E1547536662. 2
B1547556663. 3
61547536664, 4

Question Number : 41 Question Id : 6154759402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

IMI-FTHT 1 MG-Te=4 § T&qq Fd T 69 T T a1 S 2 ¢

(1)  Oi==l, |rfecd =hi TEieT, TRoTE, TFEWo =1, TEE
(2)  TECT <hi THIETT, TS, FAFENON 1, TR, it
(3)  THEHI, |ifecd hi FHIeT, SFUWON @M=, T
(4)  THE, GTEcd i T, FFERON =, T

Options:

1547536661, 1
E154752EBE2. 2
61547536662, o
61547536664, 4

Question Number : 42 Question Id : 6154759403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one 1s labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

51547536665, 1
E154753666E. 2
E1547536667. 3
E154753E6EEE. 4

Question Number : 42 Question Id : 6154759403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536665, 1

61547536666 2

1547536667, 2

61547536668, 4

Question Number : 43 Question Id : 6154759404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one is labeled as Assertion (A) and the other 1s labeled as

Reason (R):
Assertion (A) : A blog is a form of social media.
Reason (R) : A blog allows anyone to communicate to a public audience.

In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 1s false, but (R) 1s true



Options:

61547536669, 1
1547536670 2
15475326671, 2
1547536672, 4

Question Number : 43 Question Id : 6154759404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536669, 1
61547536670 2
61547536671, 2
1547536672 4

Question Number : 44 Question Id : 6154759405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life.
Reason (R) : An individual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
615475366731
1547536674 2
S W Y
61547536676 4

Question Number : 44 Question Id : 6154759405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E15475366Y3 1

E1547536674. 2



E1547536675. 3
B154755667E. 4

Question Number : 45 Question Id : 6154759406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

1547536677 1

1547536678 2

E154d7E3EEVY. 2

61547536650 4

Question Number : 45 Question Id : 6154759406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4) (AT B WG, (R) TR R
Options:
61547536677, 1
61547536678, 2
1547536679 2
1547526620 4

Sub-Section Number: 3
Sub-Section 1d: 615475407
Question Shuffling Allowed : Yes

Question Id : 6154759407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation is one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 15 a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antiglobalisation protests. The globahsation of knowledge deserves a
particularly high profile recognition. despite all the good things that can be rightly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both 1n journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. =ome who take an upbeat niew of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154759408 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage, which one of the following is not a well defined concept?
(1) Multiculturalism

(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

61547536651, 1
61547536682, 2
61547536682, o
61547536654, 4

Question Number : 47 Question Id : 6154759409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



E1547536685. 1
B1547536686. 2
B1547536687. 3
61547536688, 4

Question Number : 48 Question Id : 6154759410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage, globalisation i1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E15475366089 1
61547536650 2
61547536691 2
61547536632 4

Question Number : 49 Question Id : 6154759411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

615475366393, 1
615475366394, 2
61547536635, 3
E1547536636. 4

Question Number : 50 Question Id : 6154759412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (a) and (c) only
(3) () and (b) only
(4) (a), (b) and (c)

Options:

61547536697, 1
61547536698, 2
61547536699 2
1547536700 4

Question Id : 6154759407 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154759408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  wg-H&Fiaar (2) TEEH
(3)  STEE (4) TIEE A

Options:

1547536681, 1
E15475326882. 2
61547536682, o
615475366584, 4

Question Number : 47 Question Id : 6154759409 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEE F AN AElAlEd J | wE w2

(3)  dvdrmo-Tandi ugeiE f = AEHG (4)  THE T Ggiedl S e
Options:

1547536685 1

1547536656, 2

61547536657, 2

61547536650, 4

Question Number : 48 Question Id : 6154759410 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  FYEE 4 TgM =1 F9949 (2) TYHE FH TG * [ BTHEHES
(3)  TTTETSER T U WiE (4) Tava =mm F:1 g8 999 F TF 9hE
Options:

E1547536689. 1
61547536630, 2
61547536631, 3
E1547536632. 4

Question Number : 49 Question Id : 6154759411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547536693, 1
61547536694 2
E1547526695 2
61547536606, 4

Question Number : 50 Question Id : 6154759412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2) a9 (a) R (c)
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4  (a), (b) I ()
Options:
L1547EZee97. 1
E1E47FEZEEQE. 2
L1547E3EE99, 2
C1547E3E7F00. 4

PART II Chinese

Section Id : 615475126

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475408



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154759413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

b HFI56 N REH N O 52 M5 /DR BIES 7 2 ;
(1)  DUERHNTEE (2)  DUBRFII IR
3)  DURMEER (4) PUBRRIEEE R

Options:

61547536701, 1
61547536702 2
61547536703 2
61547536704, 4

Question Number : 51 Question Id : 6154759413 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1 E 56 REH A O &2 M /D Rika 5l 2 g
(1)  DUBER]EE (2)  DURRIM IR
(3)  DUEMEEEE (4) DUBFEEEIRIE

Options:

61547536701, 1
61547536702 2
61547536703 2
61547536704, 4

Question Number : 52 Question Id : 6154759414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FERAEL, RITHBRESER. PMEEREIGEBHEES —%f
(1) W= 2) W
(3) Hi& 4) B

Options:

61547536705, 1
61547536706, 2
61547536707, 2
1547536708 4



Question Number : 52 Question Id : 6154759414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R, RITHABRER. DMEFRIGEBEES ) —F.
n X5 (2) Wt
(3) HiF 4) B3

Options:

61547536705, 1
E1S547536706. 2
61547536707, 5
61547536708, 4

Question Number : 53 Question Id : 6154759415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BE AP EREE LR “XNEE” RTE.

1) (R=ZH) A (BT 2)  (RZRD) M (BRIEERFHFE)
(3) (AR=%) M (BFHFAEIT) @) (RZFR) M (FLEFRE )
Options:

E1547536705. 1
61547536710, 2
61547536711, 3
E154753671Z2. 4

Question Number : 53 Question Id : 6154759415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BEAPEFE ER COWEE” R

(1) (R=Z%e) A (BT 2  (KRZRD) M (BEIedE )
(3) (R=H) M (B HFRET) 4) (R=ZFD) A (FLERRBE )

Options:
E1547536709,

E1547536710,
E1547536711.
BE15475367 12,

[ N

Question Number : 54 Question Id : 6154759416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

THICEFE P HERE “CRIMER” ?
(1)  ERKFHE 2 TR
(3) HEE (4) BrImiE

Options:

61547536713, 1
61547536714 2
61547536715 2
1547536716 4

Question Number : 54 Question Id : 6154759416 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THICFEFRPERB “XCRIMRE” ?
(1)  ERPHE 2 TR
(3) HERX (4) BRImiE

Options:

61547536713,
£1547536714.
E1547536715.
61547536716,

o IR

Question Number : 55 Question Id : 6154759417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PEEE B 2 JXEREH R 1905FEHF R .
(1) (HEFRAEZE) @)  (EEWL)
(3) (ENZEHE) 4 ()

Options:

E1547536717.
E1547536718.
61547536719,
61547536720,

[

Question Number : 55 Question Id : 6154759417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HEFE—EER 2 X R R 19054EHa 45 R .
(1) (CHEFRHEZED 2)  (EED)
(3) (ENZEZHE) 4 ()

Options:

1547536717,
E1547536718.
61547536719,
61547536720,

o LIRS

Question Number : 56 Question Id : 6154759418 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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@ ETF 2) =T
3 &F @ T

Options:

61547536721,
61547536722,
61547536723,
£1547536724.

[ N

Question Number : 56 Question Id : 6154759418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

E5K “FTAME"
(h BT 2) &F
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Options:
E1547536721. 1

BE1547536722. 2
BE1547536723. 3
B1547536724. 4



Question Number : 57 Question Id : 6154759419 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

KOS E “HkEXRE” .
(1)  EZEMm 2) ¥HFHIE3
3)  MXFEZEs), 4) KFPREZEMR

Options:

61547536725, 1
61547536726 2
61547536727, 2
1547536728 4

Question Number : 57 Question Id : 6154759419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

_ HOSE “BREXKE”
(1) ¥(ZEWm 2) VFFHED)
3) NXHHAEZEZ) 4) NFREFEA

Options:

61547536725, 1
E1S47536726. 2
61547536727, 5
61547536728 4

Question Number : 58 Question Id : 6154759420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR, B—EBARHALBEHERN?
(1) (FHE) 2) (=FH
(3) (FRB) 4)  (dE1EY

Options:
B1547536729. 1

E1547536730. 2
E1547536731. 3
BE1547536732. 4



Question Number : 58 Question Id : 6154759420 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THRH, B—EARFALBTHER?
(1) (FZE) 2) (=7
(3) (FB) 4)  (JBfEY

Options:

61547556729, 1
615475367320 2
61547536731, 2
61547536732 4

Question Number : 59 Question Id : 6154759421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

N2 i LRI e AR SRIBUR Y e B TR o

1)  dER (2) FER
3) ki 4) ERK

615475367331
61547526734, 2
E1547536735. 3
E1547536736. 4

Question Number : 59 Question Id : 6154759421 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2% B e B L B s B o SRBUR Y e B SR

1)  dbx (2) FER
3y Lk (4) EK

BE1547536733. 1
61547536734, 2



E1547536735. 3
B1547536736. 4

Question Number : 60 Question Id : 6154759422 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HH

1)  FKZHE (2) TEAEN
(3) o (4)

5
=
%

Options:

61547536737, 1
61547536738 2
61547536739 2
E1547526740 4

Question Number : 60 Question Id : 6154759422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EHT:

1)  FKEH (2) SIAEA]
(3) HMH (4)

i
o
%

Options:

E1547536737. 1
E15475326738. 2
61547536729,
61547536740 4

Question Number : 61 Question Id : 6154759423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FRITUAERT #E E AR AL VR AE AN 3 T 2

1 L 2 EBEH
3) IfE (4) R

Options:

61547536741, 1
E1547536742. 2
61547526742 5
61547536744 4

Question Number : 61 Question Id : 6154759423 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IRJTRRERT #E R LSS AL T AE MRk 7

(1 b 2 EBEH
3) BfE (4) RE

Options:

1547536741, 1
E1547536742 2
61547536742, o
61547536744 4

Question Number : 62 Question Id : 6154759424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR (Y5 R) R —F 2T ?

(1) 1990 4E (2) 1991 4
(3) 1992 4F (4) 1993 £
Options:

61547536745 1



E154753674E. 2
B1547536747. 3
61547536748, 4

Question Number : 62 Question Id : 6154759424 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

XAER (EYr ) R —F 3T ?

(1) 1990 £ (2) 1991 4
(3) 1992 % (4) 1993 4E
Options:

E1547536745. 1
E154753674E. 2
B1547536747. 3
61547536748, 4

Question Number : 63 Question Id : 6154759425 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ZFRIENELR:

Q) B& 2 Z&
(3) XKBE (4) Yo

Options:

61547536749, 1
61547536750 2
61547536751, 2
61547536752 4

Question Number : 63 Question Id : 6154759425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FFRIENEL R

Qn B& 2 ZEE
(3) KBE (4) YR

Options:

61547536749, 1
61547536750 2
61547536751, 5
61547536752 4

Question Number : 64 Question Id : 6154759426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e “HR” BREERERA:

1 3 (2)
(3) H (4)

MR I

Options:

£1547536753. 1
E15475326754 2
61547536755, o
61547536756, 4

Question Number : 64 Question Id : 6154759426 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T “IBE” BREERER:

1) 3 (2)
(3) (4)

MR I

Options:
61547536753 1

E1547536754. 2
E1547536755. 3



E1547536756. 4

Question Number : 65 Question Id : 6154759427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“ERMEREEmEL L, FEZY BFERITERE, 7
(1) A 2 A
3 A3 4)  AF

Options:
15475367571

E1547536758. 2
B1547536759. 3
B1547536760. 4

Question Number : 65 Question Id : 6154759427 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“TEERMEBEEEML L, BB AR, 7
1 A 2) Aig
3) A3 4) A3

Options:

61547536757, 1
61547536758, 2
61547536759 2
1547536760 4

Question Number : 66 Question Id : 6154759428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(IR —RBRE) XERFRITRFAZ :

1 Bl 2 XF
3) EBER (4) FRRE

Options:

61547536761, 1
61547536762 2
E1S475367E2. 2
61547536764, 4

Question Number : 66 Question Id : 6154759428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(IR —RBRE) XERFRITRFAZ :

1 Bl 2 XF
3) EBER (4) FRRE

Options:

61547536761, 1
61547536762 2
E15475367ES. 2
15475326764 4

Question Number : 67 Question Id : 6154759429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

KXKTHERE. 1. BEX, THIEDAR:

1  PEEFUNERET, ANEBRK

2 TEE—1THBKX

@) mEAEAYENZ-TENMERE-RERN—E
¢  PEEEFTEEREKN—/AHRKX

Options:



E1547536765. 1
B1547536766. 2
B154753676Y. 3
61547536768, 4

Question Number : 67 Question Id : 6154759429 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

KXTHERE. 1. BEX, TIIENART:

1  FEENEMERED, ATEER

2 TEEITHEKX

3 EEATEN= T2 ORRE-RERN IS
4  EETEEREAN—EEX

Options:

61547536765, 1
61547536766 2
61547536767, o
1547536768 4

Question Number : 68 Question Id : 6154759430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FEEE A AN R .

1) —IkX 2) —iKHE )L
(3)  JLikHRE (4) —IRETF

Options:

61547536769, 1
61547536770 2
61547536771 2
E1E54753E772. 4

Question Number : 68 Question Id : 6154759430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FEAE A~ IERR:

1) Ik 2) —FKHE)JL
(3)  JLykHL I 4) —IKETF

Options:

61547536769, 1
1547536770 2
15475326771, 2
1547536772 4

Question Number : 69 Question Id : 6154759431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ERANBRRFETIE “R7 7RT:

1) =ERF 2) BEF
(3) TREF 4 JEEF

Options:

61547536773, 1
61547536774 2
61547536775 2
1547536776, 4

Question Number : 69 Question Id : 6154759431 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ZRANPHRNFETE “R7 FIBT:

1) =RF 2) BfEF
(3) IEF 4) JEBEF

Options:
15475367731

E1547536774. 2



E1547536775. 3
B1547536776. 4

Question Number : 70 Question Id : 6154759432 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

*AE:

(1)  E&FRF 2) Bk
(3) FRE (4) JAILWE

Options:

61547536777, 1
61547536778 2
1547536779 2
154753267320 4

Question Number : 70 Question Id : 6154759432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT

(1) FEEF 2) BEEW
(3)  FFHE (4) JEASLE

Options:

B15475367F7. 1
1547536778 2
61547536779 2
615475367380 4

Question Number : 71 Question Id : 6154759433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



HARPEERFATRIEARN “FFE” KR T

(1) HRES 2) #FH
(3) E% 4 ZFEH

Options:

61547536781, 1
E1S5475367E2. 2
615475326752 5
615475367584, 4

Question Number : 71 Question Id : 6154759433 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEHPEERFAPEIEARA “FFE” BZ T FIMAL?

(1) HBHRES (2) FLE
(3) E% 4 ZFH

Options:

1547536781, 1
E1547532E7E2. 2
61547536782 o
61547536754, 4

Question Number : 72 Question Id : 6154759434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TIIHEANAR “=#BHh” -

(1) (x) « (FE) . (K 2 (aHY . (4aE) . ()
(3) (&) « FEY « (=) 4 (HEWY .« (HHY « (RED
Options:

615475367585, 1
E1547536786. 2
E1547536787. 3
61547536788, 4



Question Number : 72 Question Id : 6154759434 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TIIHEANAR “=#BHh” -

(1) (x) « (FE) . (K 2 (aHY . (4aE) . ()
(3) (&) « FEY « (=) 4 (HEWY .« (HHY « (RED
Options:

615475367585, 1
E1547536786. 2
E1547536787. 3
61547536788, 4

Question Number : 73 Question Id : 6154759435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HimfE. HAM , HFHMIK. BrHMNE.

1 4K @ B
(3)  HE (4) &K

Options:

1547536789, 1
E1547526790. 2
61547536791, 5
61547536792 4

Question Number : 73 Question Id : 6154759435 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HlmdE. HA , HFFTIR. PFHETTE

(1) 4K 2 B
(3) [k 4) 8K

Options:
61547536789, 1



E1547536730. 2
61547536731, 3
B154753673%. 4

Question Number : 74 Question Id : 6154759436 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

PEREAFEHRE “RZE” BRIZ:

1) BE 2) s
3) HZXE (4) ENEE

Options:

61547536793, 1
61547536794, 2
61547536735 2
15475326796 4

Question Number : 74 Question Id : 6154759436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PEGRNEHE “RZE” FBRRZ:

1 BE 2) s
3) HZE (4) FENBE

Options:

61547536793, 1
615475367394 2
61547536795, 5
61547536796 4

Question Number : 75 Question Id : 6154759437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BRAUH B K - AR

(1) 19114F (2) 19214
(3) 19994 4) 19714F

Options:

61547536797,
E1547536798.
1547536799,
61547536800,

o LIRS

Question Number : 75 Question Id : 6154759437 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PRALH EE =S A+ AER:

(1) 19114 2) 19217
(3) 19994 4) 19714

E1547536737. 1
E15475367398. 2
E15475367395. 3
E1547536800. 4

Question Number : 76 Question Id : 6154759438 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

K=

Ut 5 K.

1 1R @) A
3) H 4) A




Options:

61547536801, 1
61547536802 2
1547526802 2
61547536804, 4

Question Number : 76 Question Id : 6154759438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

y st

U5 .

1 1B 2 A
(3) # 4 A

Options:
1547536801, 1

E1547536802. 2
51547536803, 3
51547536804, 4

Question Number : 77 Question Id : 6154759439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2008 “EJb T ML iz B ) 15 A2

(1} IE_"/i\-Iﬁﬁﬁ ﬁ“’?‘%ﬁ (2) Ia_’/i\-lﬁﬁ’ lﬁl—"l\ﬁﬁi
3) R MR, F— 4 [E—MFE, F—N23)

Options:

61547536805, 1
61547536806, 2
61547536807, 2
61547536808 4

Question Number : 77 Question Id : 6154759439 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



2008 FEL R BMRIL EIEF S/ 52

O FA—AMER, B 2 FE—PMER, FE—AHiR
@ FE—AMER, R 4 [FE—ERHR, F—1iz3)
O_pti ons:

E1547536805. 1
61547536806, 2
E1547536807. 3
E1547536808. 4

Question Number : 78 Question Id : 6154759440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WILFHERN=RENAERE:

1) REEX @ BREENX
3) RBEEX 4) BREX

Options:
£1547536509. 1

E1547536810. 2
E1547536811. 3
BE1547536812. 4

Question Number : 78 Question Id : 6154759440 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

PRI B =RENXARLE:

1) REEX @ BREENX
3 REFEX 4) BREX

Options:
1547536809 1

E1547536810. 2
51547536811, 3



E1547536812. 4

Question Number : 79 Question Id : 6154759441 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

£ [H I S B & RREEMEE. JLFPANR “ETF R ,

5o 5
Q 5, & @) F, B, 3
3) s, e R @ &, s &

Options:

61547536813, 1
61547536814, 2
61547536815 2
61547536816 4

Question Number : 79 Question Id : 6154759441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7E P =1 % A5 B 5 KREZMEE. JLFANE “ET R ;

%ﬁﬁﬁi”o
@ B 5, &4 @ H K, 3
3) W, k2 R 4 s B B

Options:
E1547536513 1

E1547536814. 2
E1547536815. 3
51547536816, 4

Question Number : 80 Question Id : 6154759442 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FEAHEBANEESERS D], BAF : BAFH 2
1  H, Wi, +, 48 @ B, K +, X
® 1. X B, #& 4 +, K, B, WH

Options:



E1547536817.
51547536818,
51547536819,
61547536820,

[ N N

Question Number : 80 Question Id : 6154759442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
PEAVHE RS ERanE], BARE ; BAFE ™ g

1 H, Wi, 1+, 4 @ B, K +, R
@3 T, X A7, #& @ +, K, B, WH

Options:

61547536817,
E1547536818.
1547556819,
61547536820,

o LIRS

Question Number : 81 Question Id : 6154759443 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(ZEEX)Y RU=EKHH | Mo
=8 E 2 B E 4 A A RN

1 B HRER (2)
3) . HFR (4)

Options:

61547536821, 1
E1S547536822. 2
15475326822 2
61547536824, 4

Question Number : 81 Question Id : 6154759443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(=EHE X)) RU=EH . Mo
=4 E 2 B A E S R SR BN

1) B HFER 2 B

3) HF. HMR 1) . HNHE

Options:

61547536821, 1
61547536822 2
1547536822 2
15475326824 4

Question Number : 82 Question Id : 6154759444 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g “TERZAT, mTeT” #&:

(1) FBHEFS—TEZERENHERKR, SFGEHLEREXK.
2) RELITAKER, ANNEZESHE.

3 —TERZERMTE, RBHEeLE.

@ ATT—TEZERERE, —EFLL.

Options:

61547536825, 1
1547536826 2
61547536827, 5
61547536828, 4

Question Number : 82 Question Id : 6154759444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g “TEBZAT, mTReT” #&:

1)  BET-TEZZEHENHR, 0T EREX.
2 HEELIZAHEE, ANDNFEZRSHE.

3 —TERZRTE, WoiiFE.

4 fTT—TEZZHEE, —Ef e,

Options:

1547536825, 1
E1547536826. 2
61547536827, o
61547536828, 4

Question Number : 83 Question Id : 6154759445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

alES LR RT & el AR N THUKRI R .

(1) & 2) Ffh
(3) R E 4) BEAK

Options:
E1547536529. 1

E1547536830. 2
E1547536821. 3
61547536832, 4

Question Number : 83 Question Id : 6154759445 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U R P Y AR N TEKHI R % -

1) B 2) Fb
(3) B E 4) BEAK

Options:
61547536829, 1
61547536830 2




E1547536821. 3
61547536832, 4

Question Number : 84 Question Id : 6154759446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
5 /R FE R« /RER 2 o

(1) HEXF 2) BREXF
(3) HHXF 4) FPILF

Options:

1547556853, 1
61547536824, 2
61547536835 2
61547536836 4

Question Number : 84 Question Id : 6154759446 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
5 JRERTER“ /R HE 2 o

(1) HEXF 2) BREXF
(3) HHXF 4) TFHILF

Options:

61547536833,
61547536834,
61547536835,
£1547536836.

[ N Y

Question Number : 85 Question Id : 6154759447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEHI (X v () M CGEXKD .

(1) (olty , (41K 2)  CR=3HY , (F&EF)
(3) (o) , (BE) 4)  CRA=3HY , (4R

Options:
61547536837, 1



E1547536838. 2
61547536839, 3
61547536840, 4

Question Number : 85 Question Id : 6154759447 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

> JEH B + (R M CGEXD .

(1) (olty , (4K 2)  (R=3HY , (FE)
(3) (o) , (BE) 1)  RF=3Y , (LK)

Options:

61547536837,
£154753683E.
E1547536239.
1547556840,

o IR

Question Number : 86 Question Id : 6154759448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

_ ERETHHZER “HFRFE

(1) 1892 (2) 1894
(3) 1937 (4) 1942

Options:

61547536841,
61547536842,
61547536843,
£1547536844,

[ N

Question Number : 86 Question Id : 6154759448 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



_ ERETHHZER “HFRFE

(1) 1892 (2) 1894
(3) 1937 (4) 1942
Options:

E1547536841. 1
61547536842 2
61547536843, 3
61547536844, 4

Question Number : 87 Question Id : 6154759449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PR K BT 2 B RIREAES T H ?

(1) BT (2) FBAEBEE
(3) MEHESE (4) BB

Options:

61547536845, 1
1547536846 2
15475326847, 2
61547536848, 4

Question Number : 87 Question Id : 6154759449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PR KR 2 EA RIRRAE LT H ?

(1) B (2) FBAEBEE
(3) REFEESE (4) BIREBH#

Options:
61547536545 1

E154753684E. 2
E1547536847. 3
61547536848, 4



Question Number : 88 Question Id : 6154759450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PRI EE IR ERRR AR ARRE TR ?

(1) 19217 H235 2) 19224E7H16%
(3) 1923 FE6 H 125 4) 19257E1 /5115
Options:

6154752365849, 1
E1547536850. 2
E1547536851. 3
61547536852, 4

Question Number : 88 Question Id : 6154759450 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

REILFEE IR ERRR A2 AR R A TR ?

(1) 19214E7 H235 (2) 19227E7 165
3) 19236 H125 4) 1925%E1H115
Options:

E15475236849. 1
61547536850, 2
E1547536851. 3
61547536852 4

Question Number : 89 Question Id : 6154759451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHBAFRTHER “Fife” 2

(1 EBR @) RF
(3) IR :: 4) s



Options:

61547536853, 1
61547536854 2
E1547526855 2
61547536856, 4

Question Number : 89 Question Id : 6154759451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHBARRTHER “Fl” ?

1 AR @ NXF
(3) (4) Itk

Options:

61547536853, 1
61547536854, 2
1547536855 2
E1547526856. 4

Question Number : 90 Question Id : 6154759452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

KIT

(1)  EHHE% (2) HEHE
(3)  hiERE 4) KU

Options:

1547556857, 1
61547536858, 2
61547536859 2
61547536860 4

Question Number : 90 Question Id : 6154759452 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HIT

(1)  EHHEE (2) HEHE
(3)  TEEE 4) KU

Options:

61547536857, 1
61547536858, 2
61547536859 2
1547536860 4

Question Number : 91 Question Id : 6154759453 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

E BT BB E AT R ?

(1) 1982412 H45 (2) 19894E12 H4%
(3) 1978 E12 45 (4) 19804E12 545

Options:

61547536861,
61547536862,
£1547536863.
E1547556864.

o P

Question Number : 91 Question Id : 6154759453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R AT R ZEIE R AT ?

(1) 19824F12 H45 (2) 19894E12 H4%
(3) 1978°E12 B 45 (4) 19804E12 545
Options:

E1547536861. 1
61547536862, 2
E1547536863. 3
E1547536864. 4

Question Number : 92 Question Id : 6154759454 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

FIRFH, AREEFRIE:

1) R (2)
(3) W (4)

oy &

Options:

61547536865, 1
61547536866, 2
1547536867, 2
1547526868 4

Question Number : 92 Question Id : 6154759454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FIIRFH, AREFEFHE:

1 R (2)
(3) W (4)

oy B

Options:

E1547556865.
61547536866,
61547536867,
61547536868,

L N

Question Number : 93 Question Id : 6154759455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Mk £ R BN S SR D A ?

(1) (L EE) @) (TEF)
(3) (KAL) @) (=HEX

Options:

61547536869, 1
61547536870 2
61547536871, 2
61547536872 4



Question Number : 93 Question Id : 6154759455 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

FHx T 2 P B AN oy i RO A ?
(1) (OB ) @)  (PEIFFIT)
(3) (KAL) 1) (=HEX)

Options:

61547536869, 1
61547536870 2
61547536871, 2
1547536872 4

Question Number : 94 Question Id : 6154759456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHIRIBREARARE (IER) KIS

@) FRIEE
b)) FEH
) HELX
d Az

i

B ERAER:

1) (@), ® 5 (@ 2) ()5 ()
3) (), ) 5 @ 4) M 5 (o

Options:

154753687321
61547536874, 2
61547536875, o
61547536876, 4

Question Number : 94 Question Id : 6154759456 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FHIRIBREARARE (IER) KIS

(a) FFIEHENE
b)) FEH
) HmELX
d Btz

i

EIEESR:

(1) (a), b T () 2 ©5 @
3) (@), © F @ 4 ® 5

E15475368873. 1
E1547536874. 2
61547536875, 3
B1547536876. 4

Question Number : 95 Question Id : 6154759457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T EK:

@  “FRZTH, mMETR’”

b)  “EERETEEREAN, EHARFET”
(c) “GTEEN, FHEBTAN

@  “RASR, BAR”

EIERER:

(1) (a) 5 (b) 2 (@, ® 5 (o
@ M ©5a@ @ @5 (©
Options:

61547536877, 1



E1547536878. 2
B1547536879. 3
61547536880, 4

Question Number : 95 Question Id : 6154759457 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T EK:

@  “FRZTH, mMETR’”

b)  “EERETEEREAN, EHARFET”
(c) “GTEEN, FHEBTAN

@  “RASR, BAR”

EIERER:

1 (@ 5 O 2) (@), ® 5 (0
3) (), e F @ 4 @5 (¢
Options:

E1547536877. 1
61547536875, 2
E1547536879. 3
E1547536880. 4

Question Number : 96 Question Id : 6154759458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FIIANDF, HERPEAERFETRIAD?
(@) WA

(b) =
(c) i
d B

EIERAE %

(1)  (a), ). F @ 2) (M), 5 @
3)  (@.b 5 ( 4) (a), () 5 @
Options:

E15475368881. 1
E1547536882. 2
61547536883, 3
51547536884, 4

Question Number : 96 Question Id : 6154759458 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEIANDF, BBEESEMERFFTRIAY?
@ &I

b X
(e) ]
d B

BIERESR:

(1) (a), (), 5 @ (2) (b),(c) H @
3)  @,b 5 (o 4) (@, ®d 5 @
Options:

51547536881, 1
61547536882, 2
61547536882, 3



E1547536884. 4

Question Number : 97 Question Id : 6154759459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FERERFRTFHN=AFEM =87, b2

a) KB
by HIE
) FRE
@ AB”

WEIERAE 2

1) (.0 F (@ (2) (b), () H @
3) @, 5 @ 4 @),b 5 @
Options:

E1547536885. 1
61547536886, 2
E1547536887. 3
E1547536888. 4

Question Number : 97 Question Id : 6154759459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FEEREFRFRI=AFEM “=27 , M12:

(a) xB
by HIE
e FRE
@ A2

EIERAE 2

1)  (@),® 5 (© 2) (M), 5 @
3) (@, 5 @ 4) (@,®b 5 @
Options:

61547536885, 1
61547536886, 2
61547536887, 3
E1547536888. 4

Question Number : 98 Question Id : 6154759460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT, BEFERETHTERE “SH0 FE?

(@) TKEE
(b) AR
© BRI
(d) 7K TG

WEIEER:

1) (@ 5 @ 2 @5 (¢
3) b 5 @ 4) ) 5 (o

Options:

61547536889, 1
61547536890 2
61547536891, 2
61547526592, 4

Question Number : 98 Question Id : 6154759460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT, BEFERETHTERE “SH0 FE?

(@) TKEE
(b) AR
© BRI
(d) 7K TG

WEIEER:

1) (@ 5 @ 2 @5 (¢
3) b 5 @ 4) ) 5 (o

Options:

61547536889, 1
61547536890 2
61547536891, 2
61547526592, 4

Question Number : 99 Question Id : 6154759461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tl G, AR HREL:

@  AKIRERHNE, HITLRERTEEE R H
b)  FEAEANRIEEXESHER

(c)  EMay 2K B S B BUBUAE A5 3E

@ ARSI R AR

BIERER:

1) =R 2) M5 @
@ (@ 3 @ 4 HZ& @

Options:
61547536893, 1
61547536894, 2

515475368585, 3
615475368396, 4

Question Number : 99 Question Id : 6154759461 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ml 5, FEEE HREL:

@  ARIAERHZ, HITLRRTEEE R H
b)  FEAEAREXE SRR

(c)  bhimarE 5CEk E 2K BIBUBUAE AR

@ ARSI TR R

EIERE S

1) iR 2 OS5 @
@ @ I @ 4) R

Options:
1547536893 1
615475368594 2



E15475368395. 3
515475368396, 4

Question Number : 100 Question Id ;: 6154759462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

THIRIREASH, B ERREA?
(a) MK b)) FE
)  MIZRIT (d XEH

WEIERAE

1) (M), 5 @
2 (. b5 @
3) @ 5 (o
4) HEE
Options:

L1547 EZEE9Y.
L1547 EZEE9E,

E1547526899.
E1547536900,

o IR

Question Number : 100 Question Id : 6154759462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FIIRIRFAST, BWERFERNRFEA?

(a) MK b)) TFE&
)  MIET @ XES

EIERE 2

1L .5 @
2 (@, 05 @
@ @5 @
CVI o §

Options:

61547536897, 1
61547536898, 2
61547536899 2
61547536900 4

Question Number : 101 Question Id : 6154759463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FRITERRA, FHIRAEWRLE.

(a) AEH: FETEFEKSR

() A4y JERTUEFEAAAR

(¢  FUSE: BlhzdHE KB

@ WA ExGERRE R NABPAE

EIERER:

1 HE o 2) (@5 @)
3) o5 @ 4 RE @
Options:

£1547536301. 1
E1547536902. 2



E1547536903. 3
515475363904, 4

Question Number : 101 Question Id : 6154759463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THIRIFRT, FEixAIEERLE:

(a) HRraH: RETVEKEKSR
b) A4y JERTUEAAAR
(¢ PUEE: FrinExRECE
d WA BEXVCERRE AP ABLE

e

L

EIERAE R

1 RHE o 2) (@5 @
3) o5 @ 4 RE @

Options:

61547536901,
61547536902,
£1547536903.
E1547536904,

o P

Question Number : 102 Question Id : 6154759464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TIAES, HTERHE R

@) EHEHE: HNBUE
b  =RAHE: BREKFA
e  HITAHE: ek
@  ZRAE: HIRK

BIEFE R

1  ® 5 @ 2 (@5 @
3) (@,b 5 (o 4 R&Z @
Options:

515475363905, 1
61547536906, 2
61547526307, 3
E1547536908. 4

Question Number : 102 Question Id : 6154759464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TIAES, HTERHE R

@ HEE: HNEUE
b  ZXRAE: BIUKF
(©  lTAHE: Wk
@  ZRLARE: WIRK

BIEFE R

1  ® 5 @ 2 (@5 @
3) (@,b 5 (o 4 R&Z @
Options:

515475363905, 1
61547536906, 2
61547526307, 3
E1547536908. 4

Question Number : 103 Question Id : 6154759465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

CATF BRI LA 2 B R 4K

@ B

(b) 25
e  WEIEULER
@  HREHR

EIEFER:

1) (), 5 @ 2 HEZ b
(3) (a),b) 5 @ 4 (), T @



Options:

61547536909, 1
61547536910 2
1547526911, 2
61547536912 4

Question Number : 103 Question Id : 6154759465 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PAF BUMREEA 2 E IR 4K

@ Bk

(b) 25
©  EEULER
@) HREHR

B IERAE 3

1 . H @ 2 B&E ®
3) (@, b 5 @ 4) (a), () 5 (@
Options:

61547536909, 1
615475363910, 2
E1547536911. 3
E1547536912. 4

Question Number : 104 Question Id : 6154759466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TIICEEMPET “HERR” FIR:
(a) (=%

(b) (B

(c) CANIRTY)

(d) (MR

BIEHESR:

1) RE @ 2 b5 ()
3) (.5 @ @ (@@, 0b 5 (o
Options:

E1547536913. 1
E1547536914. 2
E1547536915. 3
BE1547536916. 4

Question Number : 104 Question Id : 6154759466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

THICEEMPRET “HRR” BIR:
(a) (A=E)

(b) (W ge)

(c) CANIRTSY,

(d) (MR

BIEHER:

1 R& @ 2 05 (0
3) M), 05 @ @ (a),®d 5 (o)
Options:

E1547536913. 1
B1547536914. 2
61547536915 3



E1547536916. 4

Question Number : 105 Question Id : 6154759467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FIMESRIABP AR TETELIBRIE:

(a) 5 4 i)
by REEET
)  JHHER
@ FE&

EIEFER:

1 @ 5 b 2 O 5 (e
3 O 5 @ 4 (@, e 5 @
Options:

51547536917, 1
615475369158, 2
E1547536919. 3
E1547536920. 4

Question Number : 105 Question Id : 6154759467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FIESRIBPAETETELIBHIE:

(@)  NEFEBE
(b)  HEET
()  JHHER
@ &

IEIERER:

1N @ 3 @b 2 ®5 (e
3 o5 @ 4 (@, @ 5 @
Options:

E1547536917. 1
61547536918, 2
615475369149, 3
E1547536920. 4

Question Number : 106 Question Id : 6154759468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T EUBREHCXS AN IE#

@ B (GREFET)

by  ZE: (RKED

(c) . (pEAEZR)

@ EF: (EBHRET M

JEIERRE

1) (@ 5 @ @ RE @
3 @5 @ 4 (@, (© 5 @
Options:

BE1547536921. 1



E1547536922. 2
B1547536923. 3
51547536924, 4

Question Number : 106 Question Id : 6154759468 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEERLEBCXS AN IER -

@) BE&: (T

by  EE: (RED

(c) B (FEAEZF)

@ KF: (EHHAZ N

HIEFE R
1) (@ 5 @ 2 RHE (@
3 (@ H (© @ (@, © 5 @

Options:

61547536921,
61547536922,
61547536923,
61547536924,

o LI M

Question Number : 107 Question 1d : 6154759469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR EAR AR A K 22 ?
@ P&

(b)y PN

)  HRN

(d JT

EIEHER:

(1) (a)5 O 2) (b) 5 (c)
3) (5@ 4) (a) 5 @
Options:

E1547536925. 1
E1547536926. 2
B1547536927. 3
61547536928, 4

Question Number : 107 Question 1d : 6154759469 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR AL B ER R K22 ?

(a) Pg

(b)  FHN

)  HWN

d JT

EIEHER:

(1) (a5 ®) 2) () 5 (o)
3) (5@ 4 (a5 @



Options:

61547536925, 1
1547536926 2
E15475326927. 2
1547536928, 4

Question Number : 108 Question Id : 6154759470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FEL=ELL_ EABCRTEIIRE.
@ GSHENX

b Z=REX

0  BAIR%EST

@ EBELRRBE

EIEAESR:

(1) (@5 @O 2 )5 (e
3) (@5@ 4 (@ 5@
Options:

E1547536929. 1
61547526930, 2
E1547536921. 3
B1547536932. 4

Question Number : 108 Question Id : 6154759470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



o B 3L 3% B &0 B 4T 3hT5H
@  GIEX

b Z=REX

©  BEIRYEST

@ BEREAE

BIERESR:

(1) (@5 ®) 2) ()5 (c)
3) (5@ @ (5@
Options:

61547536929, 1
61547526930, 2
E1547536921. 3
E1547536932. 4

Question Number : 109 Question Id ;: 6154759471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IR A — B E 4 R F:

(a) &
b)) &
(cp B

@ =&
EIEHER:

1 @5 @ 2) HE &
3 @5 (o 4) (a), ) 5 @)



Options:

61547536933, 1
61547536934 2
E1547526935 2
61547536926, 4

Question Number : 109 Question Id : 6154759471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FEIEAR A —AEE AR F:

(@) &
b)) &
c R

d &
EEHESR:

1) @5 @ 2 HE O
3) @5 (o 4) (), ) 5 @)
Options:

B1547536933. 1
61547536924, 2
61547536935 3
615475269356, 4

Question Number : 110 Question Id : 6154759472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I3 R T AL R AE T A
@  JFH

(b) H{NL
)  H&PFH
d HE

EIEFER:

1)  (@.b 5 (o 2) (a). @5 @
3) ), 5 @ 4 @5 @
Options:

E1547536937. 1
E1547536928. 2
51547536925, 3
61547536940, 4

Question Number : 110 Question Id : 6154759472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I3 R T AL R AE T A
@  JFH

(b) H{NL
)  H&PFH
d HE

EIEFER:

1)  (@.b 5 (o 2) (a). @5 @
3) ), 5 @ 4 @5 @
Options:

E1547536937. 1
E1547536928. 2
51547536925, 3
61547536940, 4

Question Number : 111 Question 1d : 6154759473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HFTRBRERKE:
(@)  SEH
(b) iy =]
© R#e
d Bt

EERAER:

1) (@5 O 2 @ F (¢
3) (@ 5 @ 4 ® 5 @
Options:

51547536941, 1
61547536942 2
E1547536943. 3
E15475365944. 4

Question Number : 111 Question Id : 6154759473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HFTRBRERKE:
(@)  SEH
(b) iy =]
© R#e
d Bt

EERAER:

1) (@5 O 2 @ F (¢
3) (@ 5 @ 4 ® 5 @
Options:

51547536941, 1
61547536942 2
E1547536943. 3
E15475365944. 4

Question Number : 112 Question Id : 6154759474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR ECA 17 ?

@  FMEA- (BEFHE)

(b)  HE- (LBFEHITH
)  BWE- (DELIE)
@  FEPJ- CBEEAED

B IERRE 2R

1 (@ 5 b 2) (© 5 @
3) @5 @ 4 b 5 (©
Options:

515475236945 1
61547536946, 2
61547536947, 3
615475269458, 4

Question Number : 112 Question Id : 6154759474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THIEAECR 7 2

@  BEAN- (BEFE)

by  HK- (XBEHTH)
)  BRE- (DELEE)
@  FDI- (BEEAER)

B IERRE 2R

1) (@ 5 O 2) (© 5 @
3) @5 @ 4 b 5 (©
Options:

515475236945 1
61547536946, 2
61547536947, 3
615475269458, 4

Question Number : 113 Question Id : 6154759475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TSR ER AN LB E T IR ?
(a) (=Ew X0
(b) it gy

(c) (L BER)
(d) CKHFAEY

EIEMESR:

1) (), bd 5 (o 2) (a). b5 @
3) .5 @ @) HE (o



Options:

61547536949, 1
61547536950 2
E1547526951. 2
61547536952, 4

Question Number : 113 Question Id : 6154759475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

THIERE /NG RIE T ?

(a) (ZHENX)
(b) Gy,
(©) (LLEE)
(d) (KD

EIEMESR:

1 @ b5 © 2 (@.Mm 5 @
3) M. 5 @ 4 RE (o
Options:

5154752369459 1
61547536950, 2
E1547536951. 3
E1547536952. 4

Question Number : 114 Question Id : 6154759476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(@)  (fHHD) 0 FE
b))  YTw) i) T
c)  {BUiE) (i) B
d) (PIFELZLHHED (iv) HRIEFR

EERE SR

(1) (@-aw), ((b)-av), (-0, (d)-(11)
2) (@-av), (b)-w, (c)-(un),  (d)-()
3 (-0, (b)-(1),  (c)-(), (d)-(av)
@)  (@-@. ((b-O. (©)-av),  (d)-(u)

61547536955, 3
E1547536956. 4

Question Number : 114 Question Id : 6154759476 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(@)  (fHHD) 0 FE
b))  YTw) i) T
c)  {BUiE) (i) B
d) (PIFELZLHHED (iv) HRIEFR

EERE SR

(1) (@-aw), ((b)-av), (-0, (d)-(11)
2) (@-av), (b)-w, (c)-(un),  (d)-()
3 (-0, (b)-(1),  (c)-(), (d)-(av)
@)  (@-@. ((b-O. (©)-av),  (d)-(u)

61547536955, 3
E1547536956. 4

Question Number : 115 Question Id : 6154759477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HCXY

@)  (VEE) 1) FRILEK
(b)  (EHL) i) FKZEES
e = IF)N\DH Gii) HEHH
d) B SHD (iv) HEH

EIEE SR

1) @-Gv), -0,  (©-G), (@il
@  (@-G), O)-Gv), (-G,  (@-a)
@) (-Gi), Ob-G),  (©-@,  (@-Gv)
@ @-@, -G, (©-Gv), (@-)
gi)t;?;:SSE'ES?. 1

15475265958, 2

51547536955, 3
61547536960, 4

Question Number : 115 Question 1d : 6154759477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HCXY

@)  (VEE) 1) FRILEK
(b)  (EHL) i) FKZEES
e = IF)N\DH Gii) HEHH
d) B SHD (iv) HEH

EIEE SR

1) @-Gv), -0,  (©-G), (@il
@  (@-G), O)-Gv), (-G,  (@-a)
@) (-Gi), Ob-G),  (©-@,  (@-Gv)
@ @-@, -G, (©-Gv), (@-)
gi)t;?;:SSE'ES?. 1

15475265958, 2

51547536955, 3
61547536960, 4

Question Number : 116 Question Id : 6154759478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FCX «

(a) YL i) AW
b) ¥ i) S
() YLISHIL (iii) EBPHWA
d) Z# iv) JFEEBA

EIEME S

(1) (@-au), (b)-av), (0)-O), (d)-(11)

(2 (@-a), (b)-Q), (c)-(v),  (d)-(uw)
3) (@-a), (b)-), (©)-av),  (d)-)

4 (-1, ®-a), (-0, (d)-(11)

61547536963, 3
61547526964, 4

Question Number : 116 Question Id : 6154759478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FCX «

(a) YL i) AW
b) ¥ i) S
() YLISHIL (iii) EBPHWA
d) Z# iv) JFEEBA

EIEME S

(1) (@-au), (b)-av), (0)-O), (d)-(11)

(2 (@-a), (b)-Q), (c)-(v),  (d)-(uw)
3) (@-a), (b)-), (©)-av),  (d)-)

4 (-1, ®-a), (-0, (d)-(11)

61547536963, 3
61547526964, 4

Question Number : 117 Question Id : 6154759479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wi
(a) —M ©n &
b) —= i) A
) —Mm (i) HBEE
@ —R (iv) EEAT

EIEMESR:

(1) (2)-@), (b)), (c)-(v),  (d)-(m)
2 (-1, G-, (©-av), (@-0)
3)  (@-av), (b)-),  (c)-O), (d)-()
@)  (@-a), ((b)-av), (-0, (d)-(11)

Options:

61547536965, 1
61547536966, 2
61547536967, 2
E1547536968. 4

Question Number : 117 Question Id : 6154759479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wi
(a) —M ©n &
b) —= i) A
) —Mm (i) HBEE
@ —R (iv) EEAT

EIEMESR:

(1) (2)-@), (b)), (c)-(v),  (d)-(m)
2 (-1, G-, (©-av), (@-0)
3)  (@-av), (b)-),  (c)-O), (d)-()
@)  (@-a), ((b)-av), (-0, (d)-(11)

Options:

61547536965, 1
61547536966, 2
61547536967, 2
E1547536968. 4

Question Number : 118 Question Id : 6154759480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Options:

61547536969, 1
E15475326970. 2
61547526971, 5
61547536972 4

Question Number : 118 Question Id : 6154759480 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

(b)-(111),
(b)-(111),
(b)-(1),
(b)-(11),

(c)-(11),
(c)-(1),
(c)-(ii),
(c)-(111),

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Options:

(b)-(1),
(b)-(111),

(b)-(1),
(b)-(1),

(c)-(11),
(c)-(1),
(c)-(ii1),
(c)-(11),

(d)-(v)
(d)-()
(d)-()
(d)-(v)

(d)-(1v)
(d)-Q)
(d)-()
(d)-@v)

i) WHERLR
i) JLFHIETF
(i) BERHIALE
iv) WHBERZA

i) HWHERLR
i) JLFRIFEF
(ii) BERHIAE
iv) WHBERZA



E1547536969,
B1547536970.
51547536971,
E1547536972.

[ N N

Question Number : 119 Question Id : 6154759481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

= i ¥k
1 (i) JAEg
(c) ¥ i) R
% (iv) 58

EIERE 2

(1) (a)-(u1),  (b)-Q2), (c)-(11), (d)-(1v)
(2  (@-), ((b)-av), (0)-Q), (d)-)

3)  (a-(u), (b)-Q), (¢)-(v),  (d)-(u)

4  (@-@, ((b-av), (0)-O), (d)-(111)

Options:
B15475364973 1

E1547536974. 2
E1547536975. 3
BE1547536976. 4

Question Number : 119 Question Id : 6154759481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



1 ¥k
(i) VA8
(i) LUZR
(iv) iFg

R

BIERE

(1) (a)-(1),  (b)-(1), (e)-(11), (d)-(1v)
(2)  (a-Qu), (b)-v),  (c)-(), (d)-(11)
3)  (a)-(u), (b)-(), (c)-(av), (d)-(1)
4) (a)-),  (b)-av),  (0)-(), (d)-(111)
Options:

61547526972, 1

61547526974 2

61547536975, 3
G1547536976. 4

Question Number : 120 Question Id : 6154759482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ACX -

(a) REE 1 TR
b) JEHEE i) gD
() ¥ (i) I
d) H& ) K

EIERRE

1)  (@-av), (b)-Quw),  (0)-O), (d)-(1)
2  (@-av), (b)-, (c)-(1), (d)-(111)
3)  (@-av), (b)-u), (c0)-), (d)-(@)
@ (@@, @®-av), (-0, (d)-(111)

Options:

61547536977, 1
61547536978 2
61547536979 2
615475369330 4

Question Number : 120 Question Id : 6154759482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ACX -

(a) REE 1 TR
b) JEHEE i) gD
() ¥ (i) I
d) H& ) K

EIERRE

1)  (@-av), (b)-Quw),  (0)-O), (d)-(1)
2  (@-av), (b)-, (c)-(1), (d)-(111)
3)  (@-av), (b)-u), (c0)-), (d)-(@)
@ (@@, @®-av), (-0, (d)-(111)

Options:

61547536977, 1
61547536978 2
61547536979 2
615475369330 4

Question Number : 121 Question 1d : 6154759483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¥ T3z 5 5 -5 /A BIE S0 H B

(a) X 1 MEK
(b) Bk Gi) 100 FA2
() ZPR i) SEIR
d) REE iv) BksK

WEIERAE

1 (@)-O, (b)-(1), (c)-(v),  (d)-(1)
2) (@-av), (b)-(u), (c)-(), (d)-()
3) (@-au), (b)-v),  (0)-O), (d)-(1)
4) (-@), (b)-(u), (0)-(), (d)-(av)

Options:
615475364951, 1

E1547536982. 2
B1547536983. 3
51547536984, 4

Question Number : 121 Question 1d : 6154759483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



¥ T3z 5 5 -5 /A BIE S0 H B

(a) X 1 MEK
(b) Bk Gi) 100 FA2
() ZPR i) SEIR
d) REE iv) BksK

WEIERAE

1 (@)-O, (b)-(1), (c)-(v),  (d)-(1)
2) (@-av), (b)-(u), (c)-(), (d)-()
3) (@-au), (b)-v),  (0)-O), (d)-(1)
4) (-@), (b)-(u), (0)-(), (d)-(av)

Options:
615475364951, 1

E1547536982. 2
B1547536983. 3
51547536984, 4

Question Number : 122 Question 1d : 6154759484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



X -

(a) Ak 1 EKK
b)) WK i) JbXE
() —BRH (i) BB
d A& iv) Hik

JEIEMES:

(1)  (2-m), (b)-1), (€)-av),  (d)-@)
2 @-av), ®-0). (c)-(1), (d)-(1)
3) (-, ({d)-av), (©-0), (d)-1)
4)  (a2)-u), (b)-1), (c)-(), (d)-v)

Options:

61547536985, 1
61547536986, 2
61547536987, 2
1547536988 4

Question Number : 122 Question 1d : 6154759484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



X -

(a) Ak 1 EKK
b)) WK i) JbXE
() —BRH (i) BB
d A& iv) Hik

JEIEMES:

(1)  (2-m), (b)-1), (€)-av),  (d)-@)
2 @-av), ®-0). (c)-(1), (d)-(1)
3) (-, ({d)-av), (©-0), (d)-1)
4)  (a2)-u), (b)-1), (c)-(), (d)-v)

Options:

61547536985, 1
61547536986, 2
61547536987, 2
1547536988 4

Question Number : 123 Question 1d : 6154759485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ECX :
a) T i #,F
(b) FHRFK i)
() Z&XK i) JiH
d E,wXK i) &H

EERE R

() (a)-), (b)-), (©)-av),  (d-Q)
@) (-, (b)-av), (0)-Q), (d)-(111)
3  (@-0), (b)-av),  (c)-(), (d)-(11)
4  (@-@, ((b-0, (c)-(1),  (d)-(v)

E15475369391. 3
B15475369592. 4

Question Number : 123 Question Id ;: 6154759485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ECX :
a) T i #,F
(b) FHRFK i)
() Z&XK i) JiH
d E,wXK i) &H

EERE R

() (a)-), (b)-), (©)-av),  (d-Q)
@) (-, (b)-av), (0)-Q), (d)-(111)
3  (@-0), (b)-av),  (c)-(), (d)-(11)
4  (@-@, ((b-0, (c)-(1),  (d)-(v)

E15475369391. 3
B15475369592. 4

Question Number : 124 Question Id ;: 6154759486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



BEXT -

(a) FEHE i BN
(b) FEH A i) PN

c) ZEHZ (i) ZAE AT
@ #5E (iv) ZHRIETHA

B IEMAE 3R

(1) (a)-(a1),  (b)-(v), (¢)-(2), (d)-(11)
(2) (a)-(m),  (b)-(), (c)-(1), (d)-(v)
3) (@-av), (b)-Q), (o)-O), (d)-(11)
(4) (a)-av),  (b)-(1), (¢)-(u1),  (d)-()
Options:

61547536992 1

61547536934 2

51547536985 3
61547536936, 4

Question Number : 124 Question Id : 6154759486 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



BEXT -

(a) FEHE i BN
(b) FEH A i) PN

c) ZEHZ (i) ZAE AT
@ #5E (iv) ZHRIETHA

B IEMAE 3R

(1) (a)-(a1),  (b)-(v), (¢)-(2), (d)-(11)
(2) (a)-(m),  (b)-(), (c)-(1), (d)-(v)
3) (@-av), (b)-Q), (o)-O), (d)-(11)
(4) (a)-av),  (b)-(1), (¢)-(u1),  (d)-()
Options:

61547536992 1

61547536934 2

51547536985 3
61547536936, 4

Question Number : 125 Question Id : 6154759487 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FCX -

(a) 2T o kK
b) HET i H
) FLF (iii) ¥
@d HTF iv) M

EIERE SR

(1) (-, (Dd-av), (0)-0), (d)-(111)
(2 (-, [®-O, (c)-(1), (d)-(v)
3) (-, (b)-Q), (©-O), (d)-(1v)
(4) (a)-av),  (b)-(), (¢)-(m),  (d)-()
Options:

61547536997, 1

61547526995, 2

E1547536995. 3
B1547537000. 4

Question Number : 125 Question Id : 6154759487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FCX
@) ZT i kK
b) KT i) H
) T (iii)
d HT iv) A

JE IEME SR

(1) (-, (©®-av), (©)-0), (d)-(111)
2) (@-@), -0, (c)-(11), (d)-(av)
3) (@-@. (b-). (0)-0), (d)-(1v)
4)  (a-av), (b)-(), ()-(),  (d)-@)



Options:

61547536997, 1
61547536998 2
E1547526999 2
61547537000 4

Question Number : 126 Question Id : 6154759488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

4 T FA) 7 HEFr i 4L Rl E B

@ BEEEXRS, BEVWE, Ba4F

b  TRZBATFAL, BPMNLERSSFEAIE CHRIME, St AN
© RESETMAERRE, SE—BRANLAN. BA

@  TANFSE, ERMZEKNHIRG] T HTE

ETRE IERE 5

(1) (d), (@), (c), (b) (2)  (b), (@), (&), (¢
(3)  (0). (b), (d), (a) 4) (a), (b), (c), (d)

Options:

61547537001,
61547537002,
1547537003,
51547537004,

o LIPS

Question Number : 126 Question Id : 6154759488 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



% T3 AT He PP 4L E B

@ BEEEXRS, BEWE, BEAF

b  TrRZBATFL, BPMMANLEESHEAIE CHIME, St AT
¢ REFETMAERRE, SE—BRANLA. BA

@  MANFE, ERMEEKKIRGHFTE

ETE IEFE

(1) (d), (a), (c), (b) (2) (b), (d), (a), (¢)

(3) (c), (b), (d), (a) 4) (a), (), (c), (d)
Options:

61547537001, 1
E154753700Z. 2
61547527003, 3
E1547537004. 4

Question Number : 127 Question Id : 6154759489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEEMBH (BEHHDRE BEHEZH)E) HFTHNF

@ &
b)
© 1B
(d) 5

EIEAER:

(L (b)), (0), (a), (d) (2) (a), (d), (c), (b)
(3) (), (d), (b), (a) 4) (d), D), (), (a)
Options:

61547537005, 1



E1547537006. 2
B1547537007. 3
61547537008, 4

Question Number : 127 Question 1d : 6154759489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HEEPE (FEHHEDHE, BEMEZHE) #FF FIINF:

a &
(b)
© 1%
@ &

B IERE R

1) (0, (o), (@), (d) (2) (@), (d), (c), (b)
(3) (c), (d), (b), () (4) (d), (b), (0), (a)
Options:

61547527005, 1
E1547537006. 2
B1547537007. 3
51547537008, 4

Question Number : 128 Question 1d : 6154759490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



& T35 5) R IERHEFF -

@  REFHAFHEEFELRRIRK
(b)  SEAREITEE LY 32N e
©  BIRELRANFEBITO
@  BEARAEEED, AR

TG :
(1) (o), (d), (b), (a) (2) (b), (d), (¢), (a)
(3) (d), (c), (a), (b) 4) (d), (@), (b), (c)
Options:

E1547537003. 1
61547537010, 2
61547537011, 3
E154753701Z2. 4

Question Number : 128 Question Id : 6154759490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

& T ) B IER -

a) RIFHFREEINMRCEK
(b)y  SEORAIITER LA 3R 2 AN LR
¢  BREIFEHEAFEEFD
@  AARAGFEEE, HHARE

TETH :

(1) (c), (d), (b), (a) (2)  (b), (d), (¢), (a)

(3) (d), (¢), (a), (b) 4) (d), (@), (b), (¢)
Options:

E1547537003. 1
E1547537010. 2
B1547537011. 3



BE1547537012. 4

Question Number : 129 Question Id : 6154759491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

&R 3 o 5] I IERAHER -

@) HUABFFFaTAA

b)  XNEYRF—EHMIE. PN
€  TIEMHME. RIMNBESES

@  EEHRDEEEN

BT :

(1) (d), (b), (a), (¢) (2) (b), (a), (c), (d)
(3) (d), (c), (a), (b) (4) (b), (c), (d), (a)
Options:

E1547537013. 1
E1547537014. 2
B1547537015. 3
61547537016, 4

Question Number : 129 Question 1d : 6154759491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1% T 51 R ) IR HER -

(@) HAMAEERERFGTAA

b))  XEYRE—EHIE. SFEES
©  TERHMIE. RINBSES
@  HEHRDEEEML

I :
(1) (d), (b), (a), (c) (2) (b), (@), (¢), (d)
(3) (d), (¢), (a), (b) (4) (b), (c), (d), (a)
Options:

E1547537012. 1
E1547537014. 2
E1547537015. 3
B1547537016. 4

Question Number : 130 Question Id : 6154759492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

SR 1] 1 55 B HERL T ANl

(a) (HLARD

(b) (fLZ )
(c) (— /N5
(d) (4D

EIEHE R

(1) (c), (b), (d), (a) (2) (b)), (c), (d), (&)

(3) (a), (b), (d), (c) 4) (), (o), (a), (d)
Options:

E1547527017. 1
61547527018, 2



E1547537013. 3
B1547537020. 4

Question Number : 130 Question Id : 6154759492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Y& A& R 18] ST B R HES T 31/ it

(a) (AR

(b) (fLZ )
(c) (— /N5
(d) (=4

EIEFE R

(1) (c), (b), (d), (a) (2) (b), (e), (D), (a)
(3) (a), (b), (d), (¢) 4) (b)), (o), (), (d)
Options:

E1547527017. 1
61547527018, 2
E1547537013. 3
B1547537020. 4

Question Number : 131 Question Id ;: 6154759493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



V&R PRI SE S5 HEF T IE HER AU T

(a) WEEIET
T - s

)  TERERAY

@ DPHREEKERT

EIEMRE R

(1) (b), (¢), (d), (a) (2) (D). (a), (c), (d)
(3) (b), (d), (¢), (a) (4) (a), (b), (), (d)
Options:

61547527021, 1
BE1547537022. 2
BE1547537023. 3
B1547537024. 4

Question Number : 131 Question Id : 6154759493 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

P& TR FFRISC R HEF U T IS HER FU T

(a) BEEIET
® I

()  TEFEMREY

@ EREFEWRT

EIEME R

(1) (b), (c), (d), (a) (2) (b), (a), (c), (d)
(3) (b), (d), (¢), (a) 4) (a), (), (), (d)
Options:

B1547537021. 1



B1547537022. 2
B1547537023. 3
B1547537024. 4

Question Number : 132 Question 1d : 6154759494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i go stk GG W =gz Ia gk
(a) RERH

b) =B

) BN

@ |X=E

EIEMER:

(1) (a), (b), (c), (d) (2) (D), (o), (a), (d)
(3) (c), (b), (a), (d) (4) (c), (a). (b), (d)
Options:

615475370251
B1547537026. 2
E1547537027. 3
61547537028, 4

Question Number : 132 Question Id : 6154759494 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i BB RAEHAA B) SE TR HE
(a)  REEE

b)) =

()  BAEEH

@ B’EKE

EIERE 2

(1) (a), (b), (o), (d) (2) (b), (), (a), (d)
(3) (c), (b), (a), (d) (4) (o), (a), (b), (d)
Options:

615475370251
E15475370Z6. 2
E1547537027. 3
B1547537028. 4

Question Number : 133 Question Id ;: 6154759495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BEARERL R

(a)  HEIEAR

(b)y  HEREAZ

)  FEBEX

d)  FHEER

EIEMER:

(1) (d), (a), (c), (b) (2) (a), (¢), (d), (b)
(3) (b), (d), (a), (c) (4) (c).(a). (b). (d)
Options:

615475237029, 1
E1547537030. 2



E1547537021. 3
B1547537032. 4

Question Number : 133 Question Id ;: 6154759495 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R R AERISEE T

(a)  EPEERE
(b)  FRER
©  PEEX
d  PERER

EIERESR:

(1) (d), (a), (¢), (b) (2) (a), (c), (d), (b)
(3) (b), (d), (&), (¢) (4) (c), (a), (b), (d)
Options:

615475237029, 1
E1547537030. 2
E1547537021. 3
B1547537032. 4

Question Number : 134 Question Id ;: 6154759496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



HEMRERLEEHT:

) HE—XRIHEF
(b)  FAEERS

© A&

@  XHEAE3

EIEFER:

(1) (a), (d), (c), (b) (2) (d), (@), (b), (c)
(3 (a), (c), (d), (b) (4) (d), (c), (b), (a)
Options:

61547537033, 1
61547537034, 2
61547537035 3
E1547537036. 4

Question Number : 134 Question Id : 6154759496 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HHRM RN EHE
@ S —RyIHEF

(b)  EAEERG
) Pk
@  MHHES)

EIEHER:

(1) (a), (d), (c), (b) (2) (d), (a), (b), (e)
(3) (@), (c), (d), (b) (4) (d), (¢), (b), (a)
Options:

BE1547537033. 1
615475370234, 2
61547537035 3



E1547537036. 4

Question Number : 135 Question Id : 6154759497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

& T HlaFHR, HARBEER:

(a) TFHT, BEAL=F5CE K

(b)  IR—RPEEKIE

©  KFRENAE

d) HMEEER Y LR, EFEFAHRE07 B AN mAEE

EIERE R

1) (@), (c), (d), (b)
(2)  (¢), (d), (a), (b)
(3)  (d), (a). (o), (b)
4)  (b), (o), (), (D)

Options:

615475370371
61547537038, 2
61547537039 2
61547537040 4

Question Number : 135 Question 1d : 6154759497 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



& T IR FHRF, HAREE:

(@) F¥ET, BEAL=FIEE K

(b) IR —RPEEKIE

©  RFRENAE

d)  HNEERE Y KRR, R 07 B AN mavEE

WEIERIE S

()  (a),(c), (d), (b)
(2) (0, (d), (a), ()
3)  (d), (@), (o), (b)
4 (b), (o), (a), (d)

Options:

61547537037, 1
E154753270328. 2
61547537029, 5
61547537040 4

Question Number : 136 Question Id ;: 6154759498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WA A - FLTFER “BHEER”, “=ANTLERIF” .
P R) . FLFIEFEMEINHE.

EIEFHER:

1) A 5 ®R HEH, T R & Q) KIEHFBERE
2 A 5 R #HEH, B ®R A& A BRIEHAERE
(3) (A IEF, H B) AIEH

4) (A AIE#, H ®R) IEH

Options:



E1547537041. 1
B1547537042 2
B1547537043. 3
E1547537044. 4

Question Number : 136 Question Id : 6154759498 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

MR Q) - LFEK “BEER” , ‘A TUHERF” .
W ®) : LTFIREEREINET.

EIERESR:

1 @A 5 ® #IEH, T ® £ A HJIEHERE
2 A 5 ®) #PEH, H R AL Q) HIIEFEFE
(3) (A IE#, H ®R) AIEH

4 A AIEWH, H R) IEWH

Options:

£1547537041. 1
61547537042 2
61547537042 5
61547537044 4

Question Number : 137 Question Id : 6154759499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



MR Q) - (EREE) RHARAES) “ U KER” FFKL.
W R : (BREE) BEBERSHHEE, ‘AR ZATHMA.

BIEHESR:

1 @5 ® #HEM M R £ Q) KIEFHRE
@2 A 5 ® #HEH EH ® AL A HNIEFHRE
(3) (A IE#, B ® AIEH
@ A AIEH, H R) IEH

Options:

61547537045, 1
61547537046 2
61547537047 2
61547537048 4

Question Number : 137 Question 1d : 6154759499 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

MR Q) - (EmEE) RMARAES “ U KER” FFKE.
W ®) : (EWEE) BBERSHRE, ‘AR ZATHMA.

EIERESR:

1 @ &5 ® #HEM T R £ Q) KIEHRE
2 A 5 ® #IEM H ® A2 Q) HIEFHERE
(3) (A IEH, 12 R) AIEH
4 (A DIEHE, {H R) IEWH

Options:

£1547537045. 1
E15475327046 2
61547537047, 5
61547537048 4



Question Number : 138 Question Id : 6154759500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MR Q) - HAHFREZ NENEFERRBIEE M.
W R) . KRZBHH ORI EEADNDI AR RS @20

EERE R

1) @5 ®R BMEHT R £ Q) KIEFHRRE
2 A5 ® FMEMT ®R HNE Q) BIIERERE
(3) (A IEF, R) NIEM

@) (A DIEM, R) EH

Options:
61547537049, 1
61547537050 2

61547537051, 3
61547537052, 4

Question Number : 138 Question Id : 6154759500 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

MR Q) : S5MHFRE ANEX T O RmEE M.
W R) . KRZHH ORI SHEANDI AR RS @Y R.

W IERE S

1) A5 ® FHEMT ®) £ Q) K IEFHFERE
2) A5 ® FMEMT R DE Q) KIIEFHFERE
(3) (A IEM, ®R) NIEH

@) Q) NIEH, R EH

Options:
61547537049, 1
61547537050 2



E1547537051. 3
B1547537052. 4

Question Number : 139 Question Id ;: 6154759501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

MR Q)  BHRRABERMAE, &ZTRENGEEKX.
W R) : KEEE, ZTEEREANZESL.

EIEHFESR:

1 A5 ®HSEFIFR £ A HIEFHERE

2 A5 ® FEH E®R DL Q) KIEMHERE
3) (A IE#, H ® AIEH

4 A AIEM, B R) EH

Options:

61547537053, 1
61547537054 2
61547537055 =2
E15475327056. 4

Question Number : 139 Question Id : 6154759501 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A A) : BEHXRABRMES, ETFZIMNGEEKR,
i R) : REEES, BETFEFEREERKSZES.

EIEHFESR:

1) A5 ® BEFHIFR) & Q) KIEFRBRRE

2 A5 ® MEH EH®R® AL Q) HIEFHERE
3) (A IEW, H ®) NIEW

4 (A AIEM, 1B R) EM

Options:
61547537053 1

E1547537054. 2
61547537055, 3
61547537056, 4

Question Number : 140 Question Id : 6154759502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A A EE R EFKEEILH A+ ERE 5 K.
P R) . HIAKPFREFWAKFEEZEA.

BIEESR:

1) A5 ®MEFMER) £ A) K IEFRERE

2 A5 ® #IER H®R) AR Q) HWIEFERE
3) (A IEM, 1E ®) DIEH

@) A DIEH, HE®R) EH

Options:

61547537057, 1
61547537058 2
61547537059 2
61547537060 4

Question Number : 140 Question Id : 6154759502 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



MR (A P EERIERACHADLH  E 257K
W R) ¢ HARKFFEFERAKFEEAL.

BIEESR:

1) A5 ®MEFMER) £ A) K IEFRERE

2 A5 ® #IER H®R) AR Q) HWIEFERE
3) (A IEH, E ®) DIEH

@) A DIEH, HE®R) EH

Options:

61547537057, 1
61547537058 2
61547537059 2
61547537060 4

Sub-Section Number: 2
Sub-Section 1d: 615475409
Question Shuffling Allowed : Yes

Question Id : 6154759503 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label @ Comprehension



Passage 1

“UIREXIMPOBEBF IR R R RBHIT—IR KIE

WAL RAFFHHRDGERSREXS SN DOERF £ LH—A BER .

w3 b, EEHEEHIGEBEZ B SRR KOGETT S A Mg LR e — R a%,
Z TR B R AR LA BRHS B B L B B 95 2 48 F DUE HEAT VR O A8 — B 3L
—BERIES,

SR T FETHEREFIGERSTEA L TRKAWNERK, TRERERK.

HERIERBREK, SENMERRIAHIGERZ G, A8 0 fEH SR ZEAT IR U o B2 Bt
i @

#Z’?&i%’ m%ﬂ%, %%ﬂ%, %5%%1[‘];%@%‘&‘!%0

RESNANKHEAEEE —BIFSRENE, B8NPI ROE AEH.
MBE—NESEREBNE TR, KSR SEBREEHIGEIATEE.
XREBEASIESEN], EHRBERE AT — R HSORHER.

Sub questions

Question Number : 141 Question Id : 6154759504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
91. WREXINDEHFHEAREREBHIT—IK ‘KAE* , BASRAFHHFIGE
RERRIINGERFEE LR — ‘BER . “KiE” EXENEEE:

(1)  HE (2) WRIT
@ K& @) KIRHAE
Options:

E1547527061. 1
E154753708Z. 2
E1547537063. 3
E1547537064. 4

Question Number : 142 Question Id : 6154759505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(2% b, EERHEEHIGESEFEARAHNKDCET S B MK [ — 2.
“BE X BRI

(1 EH (2) MEFE
3) IBEE (4) M=
Options:

E1547537065. 1
E15475370EE. 2
E1547537067. 3
B1547537068. 4

Question Number : 143 Question Id : 6154759506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FAPE, REDE, FRIGE, RESFNEANLE. “O0EB” E£EXP, BIE:

1 BE 2) [FE
3 Bl ¢ EBE
Options:

615475370845, 1
E1547537070. 2
E1547527071. 3
E1547537072. 4

Question Number : 144 Question Id : 6154759507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
REBAN AT #HEE — B FAEBENEN, EENTFREPRIVFRAEAEH.
“B” B

1 2)
3) 4)
Options:

E1547537073. 1
B1547537074. 2
B1547537075. 3
B1547537076. 4

Question Number : 145 Question 1d : 6154759508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



KBNS EEN, THBERE LT —IRHELRMER S ERRERZ:

(1) SEFENESEIDGE (2) AlATIARE S 2 DGE
3) K AHEIREER (4)  AbATIE 3L R R R ARARAE F DUE AT
Options:

E1547537077. 1
E1547537078. 2
E1547537073. 3
B1547537080. 4

Question Id : 6154759503 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label | Comprehension

Passage 1

“URBIINEBF IR R RREHIT—R KL
WAL RATFHIEFDE RS RXSSNERF L L —4 ‘BEE .

=8 L, EREEGEBEE B AR KDGE T B AR L[ — R a k.,
ZHISR B IR ZAR L RIS 12 B B 46 2 B R DUEE T RSB R — X
—RERI .

ESRFFETHEREFGERS TR L, TRREBIMER, TREREK.

HERE R R, S2FEMNAERRMAHIGER R, #8046 H SUEZEAT B v A 2 B
.

FPER, AERIE, FRHIGE, RESEIBDLANLRE.

REFN AR RTEREE —BI F S EEREN, RN IR JLHRDE AER
ME—NEEREBNETITE, KEHREEMREERDCEREITEE.
REEBAMNESEN, THEBERRE LT —ERHS 0K,

Sub questions

Question Number : 141 Question Id : 6154759504 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



91. MRS DEBEIERELRKBRGHET —K KL’ , BASRKATTHHFIGE
REMREMPOEHFE L EH—4 ‘BEM . “KIE” EXENEELE:

(1)  HfE (2) AT
3 kK& (4) KERHE
Options:

E1547537061. 1
B1547537062. 2
B1547537063. 3
61547537064, 4

Question Number : 142 Question 1d : 6154759505 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(= b, BREEEEIGE BB RRAMNKDGEIT I B Ml IR LS — Fax .
“BHRTEIX BIRKIR

(1 B (2) MEFE
3  HEE 4) W=
Options:

BE1547537065. 1
B1547537066. 2
E1547537067. 3
61547527068, 4

Question Number : 143 Question Id : 6154759506 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAPE, REIE, FR/IE, RESFNRANLE. “0E” E£EXT, BHL:

(1 BE 2 RFE
(3) B ¢ BE
Options:

E1547537063. 1
B1547537070. 2
B1547537071. 3
G1547537072. 4

Question Number : 144 Question 1d : 6154759507 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



RESNM AN #EE —RIFF#ENEN, HENITEAEILFROEANEH.
“B HIRBE:

1 2)
3) 4)
Options:

E1547537073. 1
B1547537074. 2
B1547537075. 3
B1547537076. 4

Question Number : 145 Question 1d : 6154759508 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

XBEASMNESEN], EHEBERE—LF LR HSORHERSERIRER:

(1 HEENMEIDGE (2) AATERAEE S DG
3)  REAWERERK (4) fATRIE E R E R ARR A A DGR
Options:

B1547537077. 1
B1547537078. 2
G1547537073. 3
E1547537080. 4

Sub-Section Number: 3
Sub-Section 1d: 615475410
Question Shuffling Allowed : Yes

Question Id : 6154759509 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Passage 2

WiE CERER, ERER” , WK ARBRKEERESNTE RSB R,
EZREBERHERNSGR. FRONAARAERETER, HSZ2H¥: Z TN,
MAEE LA THEB=1F. HEREHR, AHERK, EEENEZESHNERIEH,
SRR RME BT RKRER, EE, EEEFRLE!

BEEER, ELL0EATHMERMARNZH, MART ANERESIEH. 25
E ’
AREERIEFRANEHWOME, FEELEBHRBE, EERRA B2,
T2 £ LB AT H B ER KT .. =1, FULERNIEHTIELEILET
REFFFSEE, EERNETAANRNRSL AR LitE, B FEENT T, THIAN,
fTHARBEEA . SRXELEZEZFNEBLER=8, EHEZHREK,
AEENRZERE. T, IRESF, B8 A% F 3,
UM—mEENNIEAC SN ITR, &TFTUMRR KSR HF L.
BRI, ERERNEEEREAE.

Sub questions

Question Number : 146 Question Id : 6154759510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“CUERER, ERER” -EHUEERENEMTARE?

1O ABIEGIATERDR 2 ARIRGHEE RLH SR
3  ARBSEACHIGES 4) ARBEERERSISEE
Options:

E1547537081. 1
BE1547537082. 2
B1547537083. 3
B1547537084. 4

Question Number : 147 Question 1d : 6154759511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

o 1 HIEER CAAR A 4 ) LRI B J LIRS K ?

1 —ik 2) =K
3) P& 4 FK

Options:
61547537055 1
61547537086, 2



BE1547537087. 3
B1547537088. 4

Question Number : 148 Question Id ;: 6154759512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fEEFERCERARKE

(1) ARG NHE RIS

©2)  AAHEAE ARG

3)  AKIESHLEL B SRS AR
4 BEAEZTRRSEEZ T

Options:

1547537089, 1
E1547527090. 2
61547537091, 5
61547537092 4

Question Number : 149 Question Id : 6154759513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PERE LN AFIWT T FIGR L EE R IE R -

@ EEBEFE=Z=FTEEIEZHNNEHLORZHEEFNI BT,
X T MR RS

b EBEZE=Z=ZLEEIBEBZ*NINBKEHBAOIRBEZEBRETASAEFHN IR,
[ Tt DI 7 B 5e L

©  EBEE=BNERSUNE ERER ERER” XFHREHRERT.

@ EBEE=BNERSRYE ERENR ERER” XMHHEFER.

BB ERAE 5

(1)  (a)and (b)

(2)  (¢9)and (d)

(3)  (b)and (c)

4) (a) and (d)

Options:

BE1547537093. 1
615475370384, 2
61547537035 3
61547537036, 4

Question Number : 150 Question Id : 6154759514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A WrniE R R = &R H -

(1)
(2)
(3)
(4)

Options:

i T SR E
LEE BT
iR
LB R PR

E1547527037. 1



E1547537038. 2
615475370845, 3
51547537100, 4

Question Id : 6154759509 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Passage 2

WiE CERER, ERER” , WK ARBRKEERESNTE RSB R,
EZRBRMHERNSGR. ANANARAEREER, S22t L THRI,
MAEELADTEHB=F. HRMEH, AFKRK, EEENRZASGHEREH,
SMBR R METRIRER, EFTE, EEHRLE!

WEEHR, ERSSEATIMNEERNANR®H, MART AKNEREESNER. B
E ’
AREERIEHINESEAMME, FEELEBRAORME, EESRARMEEEZH,
2 W LB EEEATH BERKET .. =1, FULERNIHTIELEIRET
RIEFIHE, EROEZTFAARMHASTAR L#E, BLBEFENTRE, THILA,
fZTHRBEBERL . AAXIELEZEZNEBELEX=2, HEIBEEHREK,
FlE & HFEZERE. D, FXMES, HihHA AN I,
U—RE#ENNIEBCEMMN2ETR, ETULRRGEEHRF L.
HTFAIN, EEEFRNREEERTEAH.

Sub questions

Question Number : 146 Question Id : 6154759510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“ﬂifkié?ﬁﬁl fﬁiﬁ%é?%ﬁ”"iiﬂ#*ﬁﬁ%&ﬁﬂiﬁﬂii9@%%?Hfﬁi%§ﬁ§f?

1) ABIRGIATE ARG 2)  ABIRSHEH FUH SR E e
3 ARBRSEBCHIGES 4 ARBEERERSISES
Options:

61547527051, 1
E15475370382. 2
E1547537083. 3
E1547537054. 4

Question Number : 147 Question Id ;: 6154759511 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



da I BIRESR LA AR S 4 L BT AAS J L IR K ?

1) — 2) =K
3) W&k 4) K

Options:

61547537085, 1
61547537086, 2
1547537087, 2
154753270288 4

Question Number : 148 Question Id : 6154759512 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

VEEFERSCEBANE

1) ARSI A S

2  FAREARE N RSRA LT
3)  AHISRSRED B SRS MR
¢4 IEBHAEEZTHRRSEEZ T

Options:

61547537089, 1
615475370390 2
615475370391, =
61547537092 4

Question Number : 149 Question Id : 6154759513 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



PERE LN AFIWT T FIGR L EE R IE R -

@ EEBEFE=Z=FTEEIEZHNNEHLORZHEEFNI BT,
X T MR RS

b EBEZE=Z=ZLEEIBEBZ*NINBKEHBAOIRBEZEBRETASAEFHN IR,
[ Tt DI 7 B 5e L

©  EBEE=BNERSUNE ERER ERER” XFHREHRERT.

@ EBEE=BNERSRYE ERENR ERER” XMHHEFER.

BB ERAE 5

(1)  (a)and (b)

(2)  (¢9)and (d)

(3)  (b)and (c)

4) (a) and (d)

Options:

BE1547537093. 1
615475370384, 2
61547537035 3
61547537036, 4

Question Number : 150 Question Id : 6154759514 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A WrniE R R = &R H -

(1)
(2)
(3)
(4)

Options:

i T SR E
LEE BT
iR
LB R PR

E1547527037. 1



E1547537038. 2
615475370845, 3
51547537100, 4



